2x%tan 1 x

The Horizontal Asymptote(s) of f(x) = .1 Is (are):
A) y=2

B) y=-3

Oy=1+7

D) y=>

E) y=1m
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The function f(x) = (sinx) e™V3* pg<x< 2m,

lineatx =
W x=
B) x ==, 7
© x= 5
0 x =37
=1
Select one:
“ A)
B)
C)
D)
L)

has a horizontal tangent
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__ax®-x+b |
If f(x) = 2Z+._ Das no vertical asymptotes, then

(A)a=b =0.
(B) a=b=1.
(C) a=-1andb = 0.
(D)a=—-1andb=1.
(E) a=0and b = —1.

glect one

A

B)

Scanne d with CamScanner



Question 5

Not yet answered
Marked out of 4
¥ Flag question

(ex-3Y If x<2
I.llf[l']-{:lxl_q “; =2

M f(x) s continuous at x = 2, then ¢ =

wherec > 2.

Answer:.

Scanned with CamScanner



The function f(x) = x3- 5 has a vertical asymptote at x =

A) -2,0
B) -2

c) O

D) 2

) -—-2,02

Scanne d with CamScanner



Question 2

Not yet answered
Marked out of 4

¥ Flag question

H a and b are real numbers such that !rl'mf-'-%“ = ],
Then a+ b=

Answer:

Scanned with CamScanner



—_——

The horizontal asymptote(s) of f(x) =

A) x=- and x = — 1

3 3"

B) y=- and y= -1

3 o T
C) x=-2 and x = 2.

D) y= % only.

E) y=-2 and y = 2.

f :__ —
131“ l‘(m)

Scanne d with CamScanner



3 Which of the following statements is (always) correct?

A) If f is continuous at x = —1, then f is differentiable at

& = —1.

 B) If f is continuous on [a, b] and f(a)f(b) < 0, then
f(c) =0 forsomec € (a,b).

C) If f(—1) =5, then f'(-1) = 0.

D) If f is continBous on (a, b), then f has an absolute

minimum value f(c) where ¢ € (a, b).

E) f(x) = (x + 1)?/3 is differentiable on R.

Select one:
O A)

® B)
O €)

Scanned with CamScanner



Question 8

Not yet answered

Marked out of 1

V Flag question

let 4x < g(x)+3x<x*—x*+ 4 forallx. Then
lim g(x) =

X—1

Answer:

Scanned with CamScanner
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sa e Lla¥l 3 ol
1 5e 4,4l

Ji3odl 130 ple P

Let 2x < g(x) —3x < x* — x* 4+ 2 for allx. Then
limg(x) =

x—1

Answer:

Scanned with CamScanner



Let 4x < g(x) +3x < x* —x%+ 4 forallx. Then
lim g(x) =

x—1

E— . . ss——

Answer:l-

Scanne d with CamScanner



S - 2
Gen 0 < SZ_.;, XB (l:x) dx < m.The minimum value of m =

e T - — = = = _— = = —_ - — _— -

Answer., |
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3+::“ if x <0
Let f(x) = (2---'15)2 if 0<x<1
4+e*lnx If r>1

10 if x=0 orx=1

Then f has removable discontinuity at

Answer :

Scanne d with CamScanner



s L LR

x—a~ In
A) o

B) +

C) O

D) -

E) None of the above

Celect one:

. Given a> 1 then hm

()

x

] _-ﬂ::-r:- 1 |
L1l i




bl‘.ll:l.t_b

Givenb > 0,b # 1, then lim—-—— =
X —+—

4 4
A) —
B) +oo
C) binb
D) 2Inb

E) 2binb

Scanned with CamScanner



cos3x

- if x<0
let f(x) ={ (A+x)* if 0<x<1
7+e*lnx If x>1
10 if x=0o0rx=1

Then f has jump discontinuity at

Scanne d with CamScanner



1 1

Givena > 1, then ‘llll[:l In(i) — ; =
A) — '

B) +o

C)o

D)

E) None of the above

Select one:

Scanne d with CamScanner



7efvle™™

The horizontal asymptote(s) of f(x) = = is (are)
A) y= %:mlv.
B) I=%andx=-2.
C) ¥ =§ and y=-2.
D) y=-:~andy=—?.
E) :I:=%anr.l x=-=7,

Select one:

O A)
O B)

Scanned with CamScanner



(ex-3) if x<2
-9 if x=>2

If f(x) is continuous at x = 2, then ¢ =

, Where ¢ > 2.

Let f(x) = [

Answer:

Scanned with CamScanner



- J9x2+36x+36
x——2+ x+2

Answer:.

Scanned with CamScanner



log(B1-x*)+tan " '(27-3)
x-7

The function f(x) = Is continuous on:

A) (-3.3).

B) [-3.3].

) (—»o,-3)uU(3,7)U (7 x).
D) (—,-3]uU(3,7)U(7,»).
E) None of the above.

Select one:

O A)
O B)
O )
O D)
O E)

Scanned with CamScanner



The values of a that make lim v x2 — 5x + 6 Does Not Exists are:

x-a”
A) [2,3]
B) (23]
C) [2,3)
D) (2,3)
E) (—o0,)
Select one:
5 a)
" B)
C) &

Scanned with CamScanner



The function f(x) = x‘:_
A) -2,0
B) -2
) O
D) 2
E) -2,0,2
Select one:
" A)
8)
C)
© D)

-2
4x

has a vertical asymptote at x =

3

Scanned with CamScanner
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The solution of In(200x*)-2Inx’ =In2 s x=

ANnswer:

Scanned with CamScanner



log(81 -r*)+an~' (2°-7)

The function f(x) = E Is continuous on:
A) [-3,3].
B) (-3.3).

€) (-, -3|U[3,5)u (5 m).
D) (-« -3)u(3.5) V(5. m).
E) None of the above.

Select one:

Scanned with CamScanner
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The solutionof In(54x3) —2Inx*=In2 is x=

L - - 1. S S N AP W I st T p & 8 | =

|
Answer:

Scanned with CamScanner



The function £(x) = ;'_t has a vertical asymptote at x =

A) 1

B) -1

c) O

D) -1,0,1

E) 01



2 ;-‘ T < l
Let f(x) = A zozo w"h"‘

=i 4

E,mlmelu! orx = |

Then [ has remoy -



Given a function with f(—3) = 7 and f'(—3) = 15, what is
lim ———?
h-0 f(h-3)-7"




The function f(x) = ;,

1

-1

0
-1,0,1
0,1

+1: has a vertical asymptote at x =




] 1
— 7
at

E) O
1



The graph of y = e™™ + 1 has a horizontal asymptote with

equation:

A) =0
B) y=0
) x=1
D) y=1

E) The graph has no horizontal asymptotes






If f is a polynomial such that limZ°2-% = 8 and lim~ -2 - 1.

x—-5 x—5 -5 f(x)—a
Then b + 23 =




IS P2 S e 0 T

- The solution

b
@ = J: ut"- LOYO\
7~ i Lal=N




mmm

Given a function with £(—3) = 7 and f'(~3) =5, what Is

: Sh
jyﬂ 7

1

A 3

B 15 mli o= =

3




Suppose that f(0) = -2, f(0) = 2,g(0) = 2,and g'(0) = —2.
If h(x) = 2e”1g(p ,then h'(0) =

f (xj cosx’

A) 1

B) —1

C) 2

D) —2

E) None of the above



The graph of y = e * + 1 has a horizontal asymptote with
equation:

A) x=0
B) y=0
) x=1
D) y=1

E) The graph has no horizontal asymptotes



x+2

The function f(x) = -
A) -2,0,2
B) 0,2
c) O
D) -2

has a vertical asymptote at x =



The graph of y = e * + 1 has a horizontal asymptote with
equation:

A) x=0
B) y=0
) x=1
D) y=1

E) The graph has no horizontal asymptotes



-1rox
The function f(x) = M is continuous on:

A) (-2,2).

B) [-22]. .

C) (—o,-2)U(2,3)U (3, »).
D) (—00,-2]U[2,3)U(3,).
E) None of the above.



The solutionof In(64x*)-2Inx’=In4 is x=

Answer: 4

We get the graphof y = 3 + 27" ! by shifting the graph of y = 2*

A) 1 unit left and 3 units up.

B) 1 unitleft and 3 units down.
C) 1unitright and 3 units down.
D) 1 unitright and 3 units up.

E) 3 unitsleft and 1 unit up.



fG)2a g o gim =t

x—5 ¥—5 [(x)-a 1.

If f isa polynomial such that lIinsl
Then b + 23 =

Answer:



lim V16x2+32x+16
x—--11 x+1 al




: . _ O ) 2q © . X‘—ax+b _ 1
If f isa polynomial such that Ll_{lsl e 8 and il_{lg g :
Then b + 53 =




-t =1f9x_
The function f(x) = log(81-x l‘*’_t:“_’iz 3)

Is continuous on:
A) (-3,3).

B) [-3,3].

C) (—o,-3)U(3,7)U(7,).

D) (—o,-3JU[3,7)U (7,0).

El] None of the above.



x2—ax+b -1

. f(xX)-a _ :
If f is a polynomial such that ngsl - 8 and Ll_?g =
Then b + 33 =



— T —

The solution of ln(54x3) 2In x3 In2 is x=

Answer: 3

lim V16x2+32x+16

Answer: ~

11 :
seC| COS g =



The values of a that make lim \/ x? — 5x + 6 Does Not Exists are:

A)  [2,3] |
B) (23]
c) [2,3)
D) (2,3)

E) (—w,0)



\1!
S "tﬁk\ ...4:{
1010001

?uuuml
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log{16-3* Jetan™"(2"-7)

B is continuous on:

The function [(x) =

Al [-2,Z].

B (=Z.12).

€} (—o.-2]U[2,5)U(5,¢),
D] (=, =2)Uu(2.5)uU(5 m),
E}] None of the above.




The values of a that make :HIT‘* J 1% — 5x + 6 Does Not Exists are:

Al [2.3]
B) (23]
€] [2.3)
o} (2.3)

E] (—=mm)



The function f(x) = ;__t has a vertical asymptote at x =

A) 1

B) -1
C) O

D) -1,0



If f is a polynomial such that limﬂ x)-a 8 and lu'n"[2 i LR
x-5 f(x)-a
Thenb + 23 =
. V4rZ+16x+16
lim =
Yr——-2% x+2
Given f(x) = 1_ and g(x) -r .The domainof (fog)(x) is:
A) (—=.=)—{-1].
B) (=x. »)-{-2]



The gragh el ¥ = p"" 4 1 haa haritontal symptole wilh
equation:

Al =0
B} ¥v=10
€l x=1
o}y y=1
E]  The graph ha no horrantal avwmptoten



: e
The function f(x) = A ) Is continuous o

-7
(-3,3).
[—3,3].
(—,=3)U (3,7)U (7,).
(=00,=3]U[3,7) U (7,).
None of the above.

n.



